

$$x_3 = \frac{s/r}{D_4}$$

$$y_2 = \frac{1 - \left(\frac{\Delta}{r} - \frac{1}{2} \frac{s}{r}\right)^2 - \frac{1}{4} \left(\frac{s}{r}\right)^2}{D_3}$$

$$y_3 = \frac{1 - \left(\frac{\Delta}{r} + \frac{1}{2} \frac{s}{r}\right)^2 - \frac{1}{4} \left(\frac{s}{r}\right)^2}{D_4}$$

$$D_3 = \left(1 + \frac{\Delta}{r} - \frac{1}{2} \frac{s}{r}\right)^2 + \frac{1}{4} \left(\frac{s}{r}\right)^2$$

$$D_4 = \left(1 + \frac{\Delta}{r} + \frac{1}{2} \frac{s}{r}\right)^2 + \frac{1}{4} \left(\frac{s}{r}\right)^2$$

(6)

This work has been supported by the Advanced Research Projects Agency under Order No. 373-62.